DU EILEN
ES MALEN
ES SAGEN
ES REISEN
ES TANZEN
DU MACHEN
ES MACHEN
SIE MALEN
IHR SAGEN
DU REISEN
DU SPIELEN
IHR LACHEN
IHR HOREN
SIE KAUFEN
SIE LIEBEN
SIE REISEN
IHR SPIELEN
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Das Imperfekt (weak verbs)
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DU ATMEN
DU SAGEN
ES LACHEN
IHR ATMEN
SIE SAGEN
ES WOHNEN
DU LERNEN
IHR MALEN
ES PASSEN
IHR MACHEN
ES OFFNEN
SIE LACHEN
IHR WOHNEN
SIE HOREN
ES RAUCHEN
IHR TANZEN
IHR HUMPELN
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ES EILEN

ES ATMEN
DU WOHNEN
SIE ATMEN
ES KAUFEN
DU KAUFEN
ES LERNEN
ES HOREN
ES LIEBEN
SIE TANZEN
IHR LERNEN
SIE WOHNEN
ES SPIELEN
IHR KAUFEN
IHR LIEBEN
ES HEIRATEN
IHR RAUCHEN
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Solution




